	Mathematics                              End Term 2
                                                             40 mins

34 marks                                                Date




	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1  (8 marks) 

1 (N5.1)

Write in index form:








a)

2x2x2x5x5







b)

aababbaaa















(2)

2 (N6.1)

Write in scientific notation:


a)

270 000










b)

84 000 000















(2)

3 (N5.1)

Write as a ratio and simplify if necessary:











a)

24 people passed the test, 6 didn’t pass the test.












b)

The chainsaw fuel was made with 800 mL petrol and 20 mL of two-stroke oil.




(2)

4 (N6.3)

Divide $600 in the ratio  1 : 2 : 3













































(1)

5 (N6.3)

The dosage of a particular medicine for a child is 1.4 mg for each 3 kg the child weighs.




  





What is the correct dose for a child who weighs 13.1 kg?

























(1)
Question 2  (10 marks)

1 (CD4.2)

Find the mean, mode, median, range of the following set of data:










6.7,  6.5,  6.8,  6.5,  6.7,  6.7,  6.8,  6.6,  6.5,  6.7,  6.7,  6.6




















(4)
 2 (CD6.2)
The student council believes that its efforts in having hand driers and hand wash dispensers placed in the student toilets has reduced student illness.  An initial investigation involved collecting daily student absence data during the flu season before and after the hygiene initiatives.  Calculate descriptive statistics, present the data in either a stem and leaf plot or a histogram, and make a comment.
















(6)
	Absences (before) 
	Absences (after)

	
51

56

55

64

48

54

53

59

64

60

47

59


52

41

52

65

63

54


45

50
	
55

47

52

49

38

42


45

44

47

31

33

41


38

43

46

57

38

47

40

51


Question 3  (16 marks)
 1 (PA6.2)

Simplify the following expressions:












a)

5a + 2a








b)

8b − 3b










c)

−5t + 3t − 2t





d)

3 x 7h











e)

3d x −2d







f)

−4ab x 2ab2






g)

15w ÷ 3









h)

−6l ÷ 8lg





(8)
 2 (PA6.2)

Expand each of the following:









a)

4(c + 3)








b)

5h(2h + 3)







(2)
 3 (PA6.2)

Solve each of the following equations:


a)

x − 3 = 7







b)

(f + 2) ÷ 3 = 5



(2)
 4 (PA6.2)
The truck mass, in tonnes, is given by the function M = 0.2n + 10, where n is the number of cartons on the truck.










a)

What would be the truck mass when carrying 8 cartons?






















(1)









b)

How many cartons if the truck mass is 14.6 tonnes?


























(1)
 5 (PA6.2)
The dimensions of a rectangle are  2x + 4 metres, and 5 metres.  If the area is 60 m2, what is the value of x?






















































(2)
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                                                             40 mins

34 marks                                                Date




	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1  (8 marks) 

1 (N5.1)

Write in index form:








a)

4x4x4x6x6x6





b)

abbabbbba















(2)

2 (N6.1)

Write in scientific notation:


a)

64 000











b)

920 000 000














(2)

3 (N5.1)

Write as a ratio and simplify if necessary:











a)

32 people passed the test, 4 didn’t pass the test.












b)

The chainsaw fuel was made with 900 mL petrol and 30 mL of two-stroke oil.




(2)

4 (N6.3)

Divide $800 in the ratio  1 : 3 : 4













































(1)

5 (N6.3)

The dosage of a particular medicine for a child is 1.2 mg for each 4 kg the child weighs.




  





What is the correct dose for a child who weighs 15.4 kg?

























(1)
Question 2  (10 marks)

1 (CD4.2)

Find the mean, mode, median, range of the following set of data:










8.2,  8.5,  8.5,  8.3,  8.4,  8.1,  8.3,  8.5,  8.3,  8.2,  8.3,  8.3




















(4)
 2 (CD6.2)
In an attempt to measure the effect of movement on heart rate, the following samples were obtained.  Calculate descriptive statistics, present the data in either a stem and leaf plot or a histogram, and make a comment.
































(6) 

	Sitting at desk (beats per min)
	Walking to class (beats per min)

	
72

81

54

68

76

91

51


64

72

61

58

47

59

67


84

73

51

69

56

73

66


84

52

50

64

	
84

96

83

94

89

99

78


77

88

75

67

66

79

81

97

79

65

82

62

83

80

97

85

76

73


Question 3  (16 marks)
 1 (PA6.2)

Simplify the following expressions:












a)

7e + 4e








b)

9o − 6o










c)

−7g + 6g − 2g




d)

5 x 8k











e)

7n x −3n







f)

−7bg x 5bg2






g)

18s ÷ 3










h)

−9j ÷ 6jk





(8)
 2 (PA6.2)

Expand each of the following:









a)

5(d + 2)








b)

6t(4t + 2)








(2)
 3 (PA6.2)

Solve each of the following equations:


a)

x − 4 = 9







b)

(a − 3) ÷ 2 = 7



(2)
 4 (PA6.2)
The taxi charge, in $, is given by the function C = 1.6k + 2, where k is the number of kilometres travelled.










a)

What would be the charge for a distance of 3.7 km?


























(1)









b)

If the charge was $12.08, how far did the taxi travel?

























(1)
 5 (PA6.2)
The dimensions of a rectangle are  2x + 4 metres, and 4x metres.  If the perimeter is 80 metres, what is the value of x?
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	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1  (8 marks) 

1 (N5.1)

Write in index form:








a)

2x2x2x2x3x3





b)

abaabbbba















(2)

2 (N6.1)

Write in scientific notation:


a)

3 100











b)

78 000 000 000












(2)

3 (N5.1)

Write as a ratio and simplify if necessary:











a)

20 people passed the test, 2 didn’t pass the test.












b)

The chainsaw fuel was made with 600 mL petrol and 15 mL of two-stroke oil.




(2)

4 (N6.3)

Divide $900 in the ratio  2 : 3 : 4













































(1)

5 (N6.3)

The dosage of a particular medicine for a child is 1.3 mg for each 3 kg the child weighs.




  





What is the correct dose for a child who weighs 17.1 kg?

























(1)
Question 2  (10 marks)

1 (CD4.2)

Find the mean, mode, median, range of the following set of data:










3.2,  3.8,  3.5,  3.8,  3.8,  3.9,  3.3,  3.7,  3.1,  3.8,  3.7,  3.3




















(4)
2 (CD6.2)
A Chamber of Commerce collected the following data before and after a tourist promotion campaign.  The data involved the daily number of customers at various outlets.  Calculate descriptive statistics, present the data in either a stem and leaf plot or a histogram, and make a comment.








































(6)
	Before
	After

	
76

57

74

58

83

64

79


55

81

39

65

81

24

45


54

44

28

23

73

42

81


70

81

35
	
58

82

78

67

54

81

87


67

67

48

32

66

92

59

64

44

80

57

28

49

79


52

65

50




Question 3  (16 marks)
 1 (PA6.2)

Simplify the following expressions:












a)

6f + 2f









b)

8u − 4u










c)

−4h + 2h − 3h




d)

3 x 9y











e)

5r x −4r








f)

−6gz x 4gz2







g)

21w ÷ 7









h)

−8t ÷ 6tu




(8)
 2 (PA6.2)

Expand each of the following:









a)

3(e + 5)








b)

5r(2r + 3)








(2)
 3 (PA6.2)

Solve each of the following equations:


a)

x − 5 = 7







b)

(b − 6) ÷ 2 = 6



(2)
 4 (PA6.2)

The sum of the interior angles of a polygon is given by the formula:

 










S = 90(2n − 4)      {S is the sum and n is the no. of sides}












a)

What is the sum of the interior angles of a nonagon (9 sides)?

















(1)











b)

How many sides in a polygon with an interior angle sum of 1080°?













(1)
 5 (PA6.2)
The dimensions of a rectangle are  4x + 5 metres, and 2x metres.  If the perimeter is 70 metres, what is the value of x?















































(2)











































































































































































































































































































































































